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Niech x = [x1 x2]T oraz 2 2
1 1 2 2( , ) ( ) ( ) .x y x y x y= − + −ρ  Niech d(x, B)
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x od zbioru B (zob. rys. 2),

( , ) min ( , ).
y B

d x B x y
∈

= ρρ

Dalej niech d(A, B)
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A od zbioru B,

( , ) max ( , ) oraz ( , ) max ( , )
x A y B

d A B d x B d B A d y A
∈ ∈

= = (7)
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( , ) max{ ( , ), ( , )}h A B d A B d B A= (8)

Interpretacja geometryczna metryki Hausdorffa jest pokazan
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( 1) ( ) , (0) 0, 0,1,2,3, 1 lub 2 lub 3k kx i A x i b x i k+ = + = = =� (9)

przy czym

1 2 3 1 2 3
11 0 0 21

, , ,
0 1 0 02 3

A A A b b b
⎡ ⎤⎡ ⎤ ⎡ ⎤ ⎡ ⎤= = = = = = ⎢ ⎥⎢ ⎥ ⎢ ⎥ ⎢ ⎥

⎣ ⎦ ⎣ ⎦ ⎣ ⎦ ⎣ ⎦
(10)
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